11.2-11.3

Simplify by combining like terms.

35. a\/27 — 2\ 34
3I0EZ-2&=

a3z

37. 5\V3x + 2\27x
SXIxX A+ bIS%

Simplify by combining like terms.

1.2V2 + 42
iz

3. 11V7 — 47

AT

5. 5v7 + 3V6
sIT+3lL

7. 273 — 53

-315

36. 522 — 38
SWZ - LyizZ
-WZ

38. 7\ 24 — \V3a
7onzZa ~2JZ0\

6. 3V5 — 55

25

8. 211 + 511
—7Jd1]




11.2-11.3

Ap

47.

48.

49.

50.

plications of target 11.2

Perimeter of a rectangle. Find the perimeter of the rectangle shown in the figure.

Z(o )+ gt 21,,

\z %+ |

VA9

Perimeter of a rectangle. Find the perimeter of the rectangle shown in the figure.
Write your answer in radical form. \47 \Q\X
347 33,
202 +2o?%
VIaT 1ad= +120F

2R

V108

Perimeter of a triangle. Find the perimeter of the triangle shown in the figure.

3+ 3+Z 5 -1
3+2J3

V3 —-V32

Perimeter of a triangle. Find the perimeter of the triangle shown in the figure.

ALIS-3+Is+{3
<4205




11.2-11.3

Target 11.3 (part 1)- | canl!y&. expressions containing radicals

Things to know:

Vib={ap  ivi-JGB
[ Example 1

Simplifying Radical Expressions

Multiply then simplify each expression.

(@ V5-V10 :J—SE: 5\[2

w V- V6 = {712 =lbJZ

© Vi Vi = Joaxt =2x {5

v~ CHECK YOURSELF 1

TN

Simplify.
(a) V3-V6 (b) V3- VI8 (¢) V8a-\V3a
— | I —
ZJ= 3IJL N ©

Multiplying Radical Expressions

Multiply.

evave = 20

v~ CHECK YOURSELF 2

T\

- Multiply 3\V7)(5\3). \5\‘2‘\

Multiplying Radical Expressions
Multiply.
(a) V3(V2 + V3) (b) V32V6 + 3V3)

G+ 3 2030 + N5

v~ CHECK YOURSELF 2

E

Multiply.
(a) V3(V6 + V5) (b) V32V5 + 3V2)

$ot+ S ZJ1s +3J%




11.2-11.3

Example 4

Multiplying Radical Expressions

Multiply.
(@) (V3 +2)(V3+53) ®) (VT +2)(V7 - 2) (©) (V3 + 57 =
BBHSE2G+ 10 120 -4 3HI0IB+2.5
I+ A=+10
13+ A3
,‘/‘ CHECK YOURSELF 4
» Multiply.
(a) (V5 + 3)H(V35 — 2) (b) (V3 + 4)(\V3 — 4) (¢) (V2 —3)
N —~>—]1 5

-\ +{5

SrJ5-L =13

— ON&




11.2-11.3

]
6

15. VI8 - V6

PAER

17. V2x - V6x

2%J3

19. 2V3 - V7

AR

21. 3V3)(5VT)

1S

23. 3V5)(2V10)

NS
3DJ2

25. V5(V2 + V5)

Vo +J23

27. V3(2V5 - 3\V3)

2Ji5—9

29. (V3 + 5)(V3 + 3)
I+ +234S
18+ (=

31 (V5 — 1) (V5 + 3)

S5+35-\IS-3
KX+ 2S

33. (V3 = 2)(V5 +2)

574

35. (V10

N

B
A\
z4

16. V8- V10

Ws

18. \V3a - \V15a

3alS

20. 3V2 - V5

3o

22. V53 VI

IS5

24. (4\V3)(3V6)

5 2=

26. V3(\V5 — V3)

\s-3

28. VI2V3 + 3V7)

221 +2.|

30. (V5 —2)(V5—1)
SAS—S+2
7 -3s

32. (V2 +3)(V2—-1T7)

0

z S

2+3J2-1J2~-2)

—19-4]=

34. (VT + 5)(VT = 5)
1-23
—(<

1T = 3)(VII +

3)




